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D V2+V3< 1+ V2<V5+ V2
@ V2+ V3<Vh+V2<1+ 12
@ 14+ V2< Y5+ V2<V2+ V3
@1+\/§< V2+ V3 < V5 + V2
® Vb+V2< V24 V3<1+ V2

B

1+ vV2-(V2+V3)=1-V3<0

21+ V2<V2+ V3

V2+ V3-(V5+ v2) = V3- V5 <0

S V2 VB< VB V2

THEFA 1+ V2 < V2+ V3< VB + V2 oItk




2. V724+2V8- V50 =aV2 oA a & S otk

V6X6Xx2+2V2x4— V5EX5x2
=6V2+4V2-5v2=5v2

5vV2 =a\20|R&

S.a=>5




3. V30V105=AV14, 2V6 = VB & W, B-A ] gt Fsteft

V30V105 = V30 x 105 = V225 x 14
=15V14d = AV14

2V6 = VAx6= V24 = VB
wahd A =15, B=24 ©]2& B— A = 90|t}




o, a-b 9 S

1<V2<2=-2<-V2<-1
= -2+5<5-vV2<-1+5
=3<5-V2<4

“a=3,b=5-V2-3=2-12
“a-b=3-(2- V2
=3-2+ V2
=1+ V2




T AL ab7ta=V8-3,b=-\Vi+ V8L O, t}& F &2
7

=T
AL

@D a-b>0 @ b-a<0 ® b+ V7>3
@ ab>0 @a+1>0

a-b=V8-3-(-V7+ V8)
©) =V7-3
=V7-V9<0
La—-b<0
b—a=-\7+ \/§_(\/§—3)
@ =-V7+3
=Vo-V7>0
Lb—a>0
@ (FHH)=b+ VT =-VT+ 8+ V7= V8
($H)=3=+9
.'.b~|—\/7<3
a=V8-3= V8- V9<0
b= V8- V7>0
soab< 0
a+1:(\/§—3)+1
® =V8-2
= V8- +Vi>0
Loa+1>0




